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1. The additive inverse of the expressionQis

(i) (=1) (i) 0 (i) (=3) (iv) 2

2. Solve the equation(=3x—=2)=(6x-2)
(i) 3 (i) 1 (i) O (iv) -1 (v) -2

8 9
3. Solve the equation(7x+§)= 5

(7-7 (i) : (iii) ° (iv) > ()-7
! 18 ! 2 . 16 W 16 Y 16
4. Solve the equation(—4x+3)=(-3)
(i) 2 (ii) > (iii) > (iv) > (v) L
2 2 4 2
5. The L.H.S of the equation(3x—7)=(7x-3) is

(i) (3x=10) (ii) (3x—=4) (i) (3x=7) (iv) (7x=3) (v) (2x=7)

6. The R.H.S of the equation(—=4x—8)=0 s
(i) 0 (i) 3 (i) (=1) (iv) (=4x-=8) (v) (=3)

7. Solve the equation(5x—1)=0

(7(f1)(ﬁ . (iii) > (iv) : (v) :
e A I =

8. Solve the equation x=1

(i) 2 (i) -1 (i) 0 (iv) 4 (v) 1

9. The R.H.S of the equation(x+4)=(-5) is
(i) (=7) (i) (=2) (i) (x+4) (iv) (=5) (v) (—6)

. 9 2 3
10. Solve the equation(2x—=)=(—=Xx—=)
4 7 2

(i) 21 (i) 21 (iii) 19 (iv) 23 (v) !

62 64 64 64 22

11. The R.H.S of the equation(—8x+3)=0 s
(i) 2 (i) (=1) (i) (=2) (iv) (-8x+3) (v) O

12. The L.H.S of the equation(9x+2)=(—-1)is
(i) (=1) (i) (9x+4) (i) (8x+2) (iv) (9x+2) (v) (9x-1)
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The L.H.S of the equation(—5x+8)=(—4) is

(i) (=5x+10) (i) (—4) (iii) (—6x+8) (iv) (=5x+5) (v) (—5x+8)
The L.H.S of the equation(=5x+5)=0is
(i) O (ii) (=5x+7) (iii) (=5x+5) (iv) (=6Xx+5) (v) (—-5x+3)
The R.H.S of the equation(7x+1)=(3x+8) is
(i) (2x+8) (ii) (3x+10) (iii) (3x+5) (iv) (3x+8) (v) (7x+1)
Solve the equation(6x+2)=(-9)
M 2y (22 i o O w2
i 8 ii 6 iii 6 iv 4 v 5
Solve the equation(—8x) =7
M 2y i () i (D) v (D) W ()
10 8 8 8
Solve the equation(—5x+4)=(2x+2)
(i) 2 (i) 0 (iii) 2 (iv) : (v) 2
|5|| |||9|v7v7
The additive inverse of the expression(—9x—9) is
(i) (9x+9) (ii) (9x+12) (iii) (9x+6) (iv) (8x+9) (v) (-9x-9)
Solve the equation(x+4)=0
(i) -4 (ii) -6 (iii) -5 (iv) -2 (v) -3
Solve the e at'on(—5X+-3)—(-8X—4)
v quati g ¥+y)=3
(i) H (ii) 2 (iii) 2 (iv) 13 (v) 13
| Il 5 11 7 v 9 \" 7
The R.H.S of the equation(—6x—9)=4 is
(i) 3 (i) 7 (i) 4 (iv) (-6x=9) (v) 2
The R.H.S of the equation(2x—=2)=(—x+5) is
(i) (=2x+5) (i) (=x+2) (iii) (2x=2) (iv) (=x+5) (v) (=x+7)
The L.H.S of the equation(3x+1)=0is
(i) (2x+1) (i) (3x+3) (iii) (3x—=2) (iv) (3x+1) (v) O
, 7 6
Solve the equation(—=x+-)=0
8 5
(i 46 (i) 46 (i) 48 (iv) 10 W) 50
35 33 35 7 37



Assignment Key

1) (ii) 2) (iii) 3) (v) 4) (ii) 5) (iii) 6) (i)
7) (ii) 8) (v) 9) (iv) 10) (ii) 11) (v) 12) (iv)
13) (v) 14) (iii) 15) (iv) 16) (iii) 17) (ii) 18) (v)
19) (i) 20) (i) 21) (i) 22) (iii) 23) (iv) 24) (iv)
25) (iii)

Copyright © Small Systems Computing Pvt. Ltd.



